
Пример 11.4. Определение  расчётного сопротивления грунта R0  
с.385-386 
 
№ варианта Грунт е 

коэффициент 
пористости 

IL 

показатель 
текучести 

Ответ 

1 Супесь 0,6 0,2  
2 Супесь 0,6 0,3  
3 Супесь 0,6 0,4  
4 Супесь 0,6 0,5  
5 Супесь 0,6 0,7  
6 Супесь 0,6 0,9  
7 Суглинки 0,6 0,1  
8 Суглинки 0,6 0,6  
9 Суглинки 0,6 0,8  
10 Суглинки 0,8 0,2  
11 Суглинки 0,8 0,4  
12 Суглинки 0,8 0,6  
13 Суглинки 0,8 0,8  
14 Суглинки 0,9 0,1  
15 Суглинки 0,9 0,3  
16 Суглинки 0,9 0,5  
17 Суглинки 0,9 0,7  
18 Суглинки 0,9 0,9  
19 Глины 0,9 0,2  
20 Глины 0,9 0,4  
21 Глины 0,9 0,6  
22 Глины 0,9 0,8  
23 Глины 1,0 0,1  
24 Глины 1,0 0,3  
25 Глины 1,0 0,5  
26 Глины 1,0 0,7  
27 Глины 1,0 0,9  
28 Глины 1,0 0,2  
29 Глины 1,0 0,4  
30 Глины 1,0 0,6  
31 Суглинки 0,6 0,2  
32 Суглинки 0,6 0,3  

 

 


